309dBHbg MmMH0gbGH0MJOME0 I3MIMYMTgds (Java -l dsBsbY)
IT LgdgbB®o. 2020-2021 {geo
©sb3360m0 50mEEol 6odmdo

Question 1
5 5009 F9ds?
class Obj {
int x, y;
0bj() {
X = -11;
y = 10;
}

0Obj(int x1, int y1) {
X = X1;

y = yi;

class Test {

public static void main (String[] args) {

Obj obl = new Obj();
Obj ob2 = new 0Obj (90, 100);
System.out.println(ob2.x + " " + obl.y);
}
}
Select one:
“ 1090
c 10
~

90 100
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90
90 10

Question 2

65 00939057
class Obj {

int x,y;

Obj() {x=-3; y=0;}

Obj(int x1, int y1) {x=x1; y=y1;}
Obj(Obj p) {this(p.x, p.y);}

b

public class Test {

public static void main(String[] args) {
Obj obl=new Obj();

Obj ob2=new 0bj(9,10);

Obj ob3=new Obj(ob2);
System.out.printin(ob2.x+ " " +0b3.y);
b

b

Select one:
-3 10
910

-30

90

Question 3
05 500939057

class Test {
int mu(int x, int y) {return x+vy;}
double mu(double x, double y) {return x+y;}

float mu(float x, float y) {return x+y;?}

public static void main (String[] args) {
Test obj=new Test();
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double a=7.3, b=31;
System.out.print("a+b="+o0bj.mu(a,b));
System.out.print(" a+b="+4+obj.mu((int)a,(int)b));
)

Select one:
a+b=38.3 a+b=38
7.3 31

38 38.3

38.3 38

Question 4
05 50093907

public class Use {

static int a=3;

static int b;

static {b=a*4; }

static void meth (int x) {
System.out.printin(" x="+x++);
System.out.printin("b="+b); }

public static void main (String[] args) {

meth(42);

b
b

Select one:
42 12
x=42 b=12
x=12 b=42
12 42

Question 5

65 00939057
class Demo {int a;

static int nham(int x) {return x*x;}
int nam(int x, int y) {return x*y;}

b



RS S R

i U RS R

public class Test {

public static void main (String[] args){
Demo d=new Demo();

d.a=9;
System.out.print("x*y="+Demo.nam(7));

System.out.printin("x*x="+d.nam(11,10));

b
b

Select one:
x*y=110 x*x=49
49 110

x*y=49 x*x=110
110 49

Question 6

9™ 3999905 3e0sligdols 0gMsMJos
class A {}

class B extends A{}

class C extends A{}

9o 350mbs0g3589000 F98dsO0E0?
Select one:

a. B L1v39m3alios A 3esliolsmgols
b. A L»393esbos B 3amsbolbsmgol
C. C byy3gmzasbos A 3enslobamgol
d. C L3g®gemsbos B 3emsbobamgol

Question 7

dm 3999905 3eslgdol s0fgds
class A {

double a=1;

double b=5;

void sum(){
System.out.print(a+b);

>

b

class B extends A{
void mul(){
System.out.print(a*b);
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b
390 350mbsmg3580s F993sM0E0?

Select one:
a. B 30sb80 @ s b 330050980 459mEbo@gdeo 5655, 5d0E™A 35000 o9mygbgds 839090

b. B 3esb80 @ s b 330000980 258mygbgds 56 d90degds, 3065056 sLgmo 33ee©gdo
b39M3sldo 99339 399 EboYdNYE0s

C. B 3emsbdo a o b 33esmgdol go9mygbgds @sbsdgzgdos, 3obs0wsb olobo Lwydg@zealidos
sefgdowo
d. B 30580 a s b 330000900 bafigobo 3609369mdgdo o6 96039000, 530E™I 930mass

Question 8

dm399099w0s Mo Jesbo:
class BaseClass {

int meth(int i){
return i;

b
b

class SubClass extends BaseClass {
int meth(int x) {
return x*x;

b
void meth() {

System.out.printin("uparametro meTodi!");

>

int meth(int a, int b){
return a+b;

b

b

090 359mbomdzs8gd0s F9835G0E07?

Select one or more:

a. Jgg3wsbiol int meth(int x) dgommo 9396 3eslol FJMEOL AOOFIMZs

b. d393eolido int meth(int a, int b) dgmmo LYI3gMIESLOL FYPMEOL FHWIPIOZsS

C. g3gaesbol int meth(int x) dgomo by3gMzesliols 3gmMEOL FoEOEHZ0MMZdd

d. J393wsb8o void meth() dgomm@o bI3gMIESLOL IJMMEOL JOWIFIMZ5S

€. J4ggasbdo int meth(int a, int b) 9gmm@o LM3gH3EsLOL IGPMPOL FIWIFHZOOMNZoS
f. 9393aslido void meth() dgmmo bey3gm3Esliols dgmmEOL FoIEHIOMMZSS

Question 9

65 50093905 3MBLMEWDBY 3MMYMToL glGeyangdols 99gyo®?
class Base{

Base(){

System.out.print(" Base 3esbol 3mblb@®eyddemeo”);

b
b
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class SubClass extends Base{

SubClass(){

super();

System.out.print(" SubClass 3asbol 3mbbE®EHm®o");
b

b

class Test {
public static void main (String args[]){
SubClass ob = new SubClass();

b
b

Select one:

a. Base 3asbol 3mbbGead@meo SubClass 3esbol 3mbLE®eddm®o
b. 5®5g3960 56 ©50d93dS

c. SubClass 3gsbol 3mbLE®wdEm®o

d. Base 3gsbol 3mbl®ad@meo

Question 10

65 50093905 3MBLMEDbY 3HMAMToL guregdol G9wgys©?
class Base{

inta=17;

b

class SubClass extends Base{
inta=12;

int meth(){

return super.a;

b

b

class Test {

public static void main (String args[]){
SubClass ob = new SubClass();
System.out.print(ob.a);
System.out.printin(" "+ob.meth());

b
b

Select one:
a. 1217
b. 17 12
c. 1212
d. 17 17

Question 11
dm 3999905 3e0sligdol 0gMsMJos

1.class A {}

2. class B extends A {}
3. class C extends B {}
4. public class Test {



5. public static void main(String[] args) {
6. Bb = new C();
7. Cc=new C();

8. Aa =g
9. a=b;
10. c = a;
11. }
12. }

390 350mbsmg3580s LfmMo?
Select one:
a. 3OmyMsdsdo d93mds 5SS

b. 10 LEH®odmbdo Jg3mDss, 3065006 J393w Lol FHo30l 33sEL 960Fgds L3gMZEsLOL G030l
®3099@o

C. 9 bLEBHMogdmbado Fg3EMTss, 30650H LY3gM3WLOL BHO30L (33¢sEL 960Fgds J3g3ealiol BHodol
®009d3H0

d. Java 935360 $030%sgool 9655 s80@md Lbgswalbgs $Hodol 33wsmgdol 306039ds ©sM839d9¢0s

Question 12
dm390990s 3sligdol 0geaMdos

class Base{

int meth(int x){
System.out.print(" "+ ++x);
return x;

b

>

class SubClass extends Base{
int meth(int y){
System.out.print(" "+y++);
return y;

b

b

class Test {

public static void main (String args[])<{
SubClass s = new SubClass();

Base b = new Base();

Base ob;

ob =s;

System.out.print(" "+ob.meth(1));
ob = b;

System.out.printin(" "+ob.meth(1));
b

b

65 200939057

Select one:
a.1222
b.1233
c.2221
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Question 13
93909900 3sligdol 0gesmdos

1 abstract class Abstr {

2 abstract void meth(int i);

3}

4 class B extends Abstr {

5 void meth(int x) {

6 System.out.printIn("B 3esbol dgmm@o");
7%

8}

9 public class Test {

10 public static void main(String[] args) {
11 Abstr obj = new Abstr();

12}

13}

g0 350mbsmgzs80s LmMo?

Select one:
a. 30330o@GHMm6M0 993000358 56 Imy339dL

b. 2-9 bEGogmEo IgMEOL GHobo sMss SffgMoo, sd0GHMI 3MA3owsBHM®O LobEJuvEG FgcMAsl
9my339dL

C. 5-9 bLEAHMogdmbado IgoMPOL 356M5IYBHOOL Labgwro 6 gdmbzgzs 2-9 bEGModmbol Igmmeol
3565393HM0L Lobgeols, sd0EMA Tg3MAss

d. 11-9 by®ogdmbdo dg3Mss, 306506 SBLBEHGIBHMWO MBdOYIHOL 8gddbol d3IEMdss

Question 14
93909900 3sligdol 0geamdos

1 abstract class Abstr {

2 abstract void meth(int x);

3%

4 class B extends Abstr {

5 void meth() {

6 System.out.printin("B 3ewsbol dgmmoo™);
7%

8%

9 public class Test {

10 public static void main(String[] args) {
11 B ob = new B();

12 }

13}

G390 359mbsmg3580s LfmMo?

Select one:

a. 3mI30o@m®mo dma3:390L 993mdsL, 30650056 2-9 LEBH®OJmbIo SfgMOO SBLEMYEHMWO
9900m@OL M95e0B30L §39300bo 56 sb9bL

b. 3m330s@m®o J93mdsl 5@ dmazi3gdL



C. 5-9 LEH®0JmbIo FgMPOL Labgeo 56 Fgodegds §dmb3z ML bydgM3ealiol 2-9 LEModmbdo
30000mgd dgomEOoL Labganls

d. 3m330@wsBHm®o dmy33gdl 93masL, 306506 bvydgMmzEslol 2-9 bE®modmbdo dgmmul Moo
35050930 593L

Question 15

3m399Mwwos 3OHMaM53oL G9gdbGHo

1 class A {

2 final void meth() {

3 System.out.printIn("A 3esbol dgmm@o");
4 }

5}

6 class B extends A {

7 void meth() {

8 System.out.printin("B 3esbol dgommo");
9 7

10 }

OI9wo 35dmbomdgzsdos Lm®o?
Select one:

a. 30650056 2-9 LEHG®OJmbEdo L3gH3Eslol IO FodmEbsdMEos final dmogozs@m®om,
000@M0 J393eslido JoLO JoOGBIMZs 96 TJodegds

b. Lm396H3wslido s J393wolido GOHMBI0MO Lbgwom dgoMEYBdOL A5TMEbIYDds 56 FgodEgds
c. final 8m@ogo035¢™M®oL dgmmEol §ob domomgds sw)dz9dgwos
d. 30330@sBH™Mo G93msL 56 dmp3z390L

Question 16

dm39099os 3MMM5dol G9duEo

1 final class A {

2 void meth() {

3 System.out.printin("A 3esbol dgmm@o");
4 }

5}

6 class B extends A {

7 void meth() {

8 System.out.printIn("B 3esbol dgmmoo");
97}

10 }

9o 350mbsmg35805 LfmMo?
Select one:

a. 30650056 1-¢ LEH®oJMbIo A 3eslo sefigBowos final dmogozs@Mm®om, sd0GHMa sl o6
390dagds 9393eslo 3Jmbaogl

b. b¥y39MH3sl8o s J393wsLTo GOHMBIOMO Labgwom FgMMEYdOL godmEbsYds 5@ Fgodegds
C. 3m330o@MMmO 99300l 56 dmy3:39dL
d. final 8m@og03s@™m@ol 3eslol sefig®ol fob domomgds smadzgdgwos
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a1 1 17

Question 17
dmbodbgo Object 3wsbol Igomm©gdo

Select one or more:
a. area()

b. clone()

. print()

. volume()

. toString()

a o

0]

Question 18
Gmdgeo iIMport otgd@ozss bm®o?

Select one or more:

a. import java.util.Vector.*;

b. import java.util.Vector;

c. import java.util.Vector.size();
d. import java.util.*;

Question 19

65 500939057
package A;

public class Point {

public int x;

public int y;

public Point(int xx, int yy) {
X = XX;

Y =YY,

¥

¥

package A;

public class Line {

Point a = new Point(0, 0);

Point b = new Point(0, 0);
public Line(Point p1, Point p2) {

a.x = pl.x;
a.y = pl.y;
b.x = p2.x;
b.y = p2.y;

)

public int dist() {

return Math.max(a.x - b.x, a.y - b.y);
¥

¥
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package B;
import A.*;

public class Test {

public static void main(String[] args) {
Point p1 = new Point(1, 0);

Point p2 = new Point(4, 5);

Line | = new Line(pl, p2);
System.out.printin(l.dist());

b
b

Select one:

a.
b.
C.

d.

4
-3
3
5

Question 20
g LBGMogmbdo 6 LiBMogmbgddos dg3mas:

1.

CONPUHEWN

15.
16.

17.
18.
19.
20.
21.
22.
23.
24,

package A;

public class Point {

private int x;

public int y;

protected int z;

public Point(int xx, int yy, int zz) {

. X = XX
LY =YY
. Z = 72Z;
10.
11.
12.
13.
14.

b
public int vecLength() {

return x * x +y *y +z * z;
b
b

package B;
import A.*;

public class Test {

public static void main(String[] args) {
Point p1 = new Point(3, 4, 1);

pl.x =5;

pl.z = 2;
System.out.printin(pl.vecLength());

b

b

Select one or more:

a.

21
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b. 20
c. 19
d. 7

Question 21
OMIg LEAH®OJMB0/LEHMOJMbYdB0s g3Mds?

. public interface Knopka {

. void dachera();

b

. public class Bomb implements Knopka {
. public void dachera() {

. System.out.printin("ar mushaobs");

b
. void boom() {
. System.out.printin("afetqdaaaa");
10. }
11. }
12. public class Test {
13. public static void main(String[] args) {
14. Knopka redKnopka = new Bomb();
15. redKnopka.dachera();
16. redKnopka.boom();
17. }
18. }

©CONOUTAWNKR

Select one or more:
a. 2
b. 8
c. 14
d. 16
e. 15

A 0 T

Question 22

65 50093905 ?
public class Test {

public static void main(String[] args) {
intc[]=41,3,7,11 };

inta =5;

intb =0;

try {

intd = c[a * b];

System.out.printin("End of try block");

} catch (ArithmeticException e) {
System.out.printin("Exception 2");

} catch (ArrayIndexOutOfBoundsException e) {
System.out.printin("Exception 3");

} catch (Exception e) {
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System.out.printin("Exception 1");

b
b
b

Select one:

a. Exception 1

b. End of try block
c. Exception 3

d. Exception 2

e. 15

Question 23

LEBH®ogmbo 9ggdboeros sbg: String s = new String("xyzzy"); 8mbodbgm, Gmdgero dgmmeol
39LMHMEgdOL F9IP© 9033w g0s S LEHMOJMbMB 35380MVd0 MBdOYJEHOL 36036 MDS?

Select one:

a. s.concat(s);

b. s.append("aaa");

C. bLEH®ogdmbols 360d36gEMds SMILMPIL 56O 033X GdS
d. s.replace('z', 'a');

e. s.substring(3);

f. s.trim();

Question 24
93909905 3MHMAMm0L BMLQTgbG0:

. String s1 = "abc" + "def";

. String s2 = new String(sl);

. if (s1 == s2)

. System.out.printin("== succeeded");

. if (s1.equals(s2))

. System.out.printin(".equals() succeeded");

O, WNBE

g0 2odmbsmggzsdos F9ddstodo?

Select one:

a. 89-6 B9LEOMWEIYds, beagrm 3g-4 6o

b. 899-4 ©> 99-6 LEHGOJMBYBO MGOZY FgLOMEIdS
C. 99-4 99bOMWEYBS, beagrm d9-6 Mo

d. 89-4 s 39-6 LESH®OJMbBIBO 5O gLEME DS

Question 25
36mM59ob 3mEOL HGMIgEo LEBMOoJmbol 3mI3owsEos dmbEgds Mg3EMmIMNE?
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Select one or more:

a. byte b=767;

b. Integer i=7;

c. Integer i=new Integer(5); int j=i;
d. int i=7; byte b=i;

Question 26

5 5009390 3MBLMEWDBY 3OMAMST0L 399ga0 BMoRTIBEHOL gLty gdol 89)a©?
. Vector < Integer > values = new Vector < Integer > ();

. values.add(4);

. values.add(5);

. values.set(1, 6);

. values.remove(0);

. for(Integer v : values) {

. System.out.print(v);

10. }

OVoOoONOUTLSA~ W

Select one:
a. 6
b. 46
c.4
d.5
e. 45

Question 27

65 5009390 JMBLMEWDBY 3OMAMToL 399ga0 BMsRTIBEHOL Tgltregdol 9gao©?
Stack < String > greetings = new Stack < String > ();
greetings.push(“hello”);

greetings.push(“hi”);

greetings.push(*ola”);

greetings.pop();

greetings.peek();

int k=greetings.size();

for(int i=0;i<k;i++){
System.out.print(greetings.pop());

b

Select one:
a. hellohiola
b. hihello

c. hello

(@)

. 3M330sGHMMo dma3399L dg3masl

e. hellohi
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Question 28

93990005 99800920 s0fgms:
Hashtable < String, Double > ht = new Hashtable();
6390 LEHOoJmbgdos Lm®o?

Select one or more:

. ht.get("pi");

. ht.put( "pi" , 3.14159);

. ht.put( 'e', 2.71828D);

. ht.get("x", new Double(123.4));

. ht.add( "log(1)" , new Double(0.0));

a o0 o o

0]



